Avatar #1 Phenotypes



Avatar #2 Phenotypes

Name: __________________ 


Name: __________________

Hair color________________ 


Hair color_______________
Skin color _______________



Skin color _______________
*Circle the dominant hair color.

*Circle the dominant skin color.

Avatar #1 Genotypes




Avatar #2 Genotypes

Hair color _____ 




Hair color_____
Skin color _____




Skin color _____
*Flip a coin to determine the genotypes
Dominant
Heads-Cap, Cap


Recessive (remember, always lower lower)

                        Tails-Cap, Lower


Lower Lower

________________________________________________________________________
[image: image1.emf][image: image2.emf]
Key to Hair Color




Key to Skin Color

____=__________




___=__________

____=__________




___=__________

____=__________




___=__________
Complete the crosses using the punnett square.

______% has _____________hair

______% has _____________skin

______% has _____________hair

______% has _____________skin
